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Answer the following questions.
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(i) Show the equality with respect to cot z and the infinite sum of o tan 5%
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by using the addition formula
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of the trigonometric functions tanz and cot z.

(if) Find an addition formula of the hyperbolic functions tanh z and coth z. Then, derive
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an equality with respect to cothz and an infinite sum of o tanh o by using this
addition formula, where these hyperbolic functions are defined by
sinh z coshz et —e® e +e™”
tanhz = , cothz = — , Sinhz=-—7— coshx=+—
coshz sinh 2

for a real number z.



